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2a—3b=
—Sa+12b=4

then which of the following statements is true?

€)  There are no possible solutions for @ and b.

F)  There is more than one possible solution for @ and b.




[image: image2.png]B)
E)

o
j5)

A triangle ABC i such that [AB] = 3, |AC
|BC| = 5. What is the arca of the triangle?

None of the other answers are correct
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In how many points does the graph of the function
flx) = 2" + 22 — 3 intersect the z-axis?

1

None of the other answers are correct

o)

0




[image: image4.png]What is the domain of the fanction f(z

4) (0, +00) B) All real mimbers (o} [2, +00)
D) (2 +00) B (-2 B Al real numbers except 2




[image: image5.png]Which of the following functions has the largest pe-
riod?

B) 3+ cos(x) )
E) cos (3z) )

3eas (3z)

)
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Evaluate cos (—T) .
3
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Suppose a is a pesitive real mimber.
i 1
log, (x) + log,2(z) + log,s(z) = 5

None of the other answers are correct

Solve for z
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